
R

THE  FINEST  RADIO  CONTROL  MODELS

取扱説明書
INSTRUCTION SHEET

※ご使用前にこの説明書を良くお読みになり十分に理解してください。
Before beginning assembly, please read these instructions thoroughly!

お買い上げありがとうございます。ご使用前にこの取扱説明書とキットの取扱説明書を合せてお読みください。
Thank you for purchasing this product. Before installation, please carefully read and follow the instructions 
on this sheet in conjunction with the instruction manual of your kit.  

No.IFW502

IFW502

説明書に使われているマーク
Symbols used throughout the 
instruction sheet, comprise:

モータークーリングファンユニットセット
Motor Cooling Fan Unit Set

Must be purchased 
separately!

別購入
Assemble in the specified 
order. 

番号の順に組立てる。

1

2

Note the direction
向きに注意。

3
水平

モーター
Motor

シャシー
Main Chassis

Horizontal

3x10mm ボタンヘックスビス

注:シャーシのイラストは省略しています。

Button Hex Screw
1

2

3 x 15mm
Button Hex Screw
ボタンヘックスビス

2.6x8mm キャップビス
Cap Screw

1

3x15mm
1-S13015H

IFW502-01

2.6x8mm
1-S22608

3x10mm
1-S13010H

The picture of the chassis is omitted.

1

3

2



4

5

スペアパーツ SPARE PARTS

メーカー指定の純正部品を使用して

　安全にR/Cを楽しみましょう。

※製品改良のため、予告なく仕様を変更する場合があります。

京商ホームページ

© Copyright 2022 KYOSHO CORPORATION / 禁無断転載複製
*SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.

IFW502-T03

www.kyosho.com

60112206-1    PRINTED IN JAPAN

品番
No.

パーツ名
Part Names

品番
No.

パーツ名
Part Names

IFW502-1

1-S22608

1-S13010H

クーリングファンセット(ハイスピードタイプ）
Cooling Fan Set(Hi-Speed Type) 
キャップビス(M2.6x8/5入)
Cap Screw(M2.6x8/5pcs)
ボタンビス(M3x10)(ヘックス/10入)
Button Screw(Hex/M3x10/10pcs)

1-W300805 ワッシャー(M3x8x0.5/10入)
Washer(M3x8x0.5/10pcs)

1-S13015H ボタンビス(M3x15)(ヘックス/10入)
Button Screw(Hex/M3x15/10pcs)

受信機の空きチャンネルへ接続する。
Connect to a free channel on the receiver.

3x8x0.5mm
3x8x0.5mm ワッシャー

Washer
1

IFW502-02
延長コード
Extension cord


